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YEM) 4493 (5) -0.3 0.0 0.0 0.0
4 102 BiF X FEEINS 271 259 X 6 2.71
YIR 493 (5) 00 -08 |+- 0.0
5 20 {FiE 18 FEAE NS 246 | 231 285 3 285
147 71% (5) -02 -03 -0.1 -0.1
6 85 KFN flith EREHE/NS DNS
eV EVA G L L + -
7 44 F A Bk NN 3.10 X 3.07 2 310
4 LU (5) -0.1 |+ - -0.1 -0.1
8 105 HLL @K FEEINS 253 X X 8 253
AT 194 (5) -02 +- |+- -0.2
9 97 #H [E ERE /NS x 210 | 275 4 275
YR 493 (5) + - 0.00 0.0 0.0
10 42 N IGE/NS 335 X 3.10 1 335
15935h0% (5) 0.4 +- -0.5 -0.4
4 =
INFE6EEF FEnFek
SRk REFHE  Sml2 B’y &
HiFIE ron- K% B/ 2E 1 2 3 & 151/ 52 8%
1 22 B E et eI 325| 329 332 4 332
790 7¥5  (6) -08 -07 -05 -05
2| 235 FHIWE m/NEF/N6 251 | 249 | 255 6 255
7Y IR% (6) -08 -03 0.0 0.0
3 23 #F =N FE1E/NG 338 318 359 3 359
RaVERYY) (6) -038 0.0 0.0 0.0
4 21 BB E& FEAE /N6 314 311 | x 5 314
TAT 4% (6) -02  -0.1 |+- -0.2
5 54 ith b $HE [GE/N6 DNS
1h's 493 (6) + - + - + - + -
6 63 XH £ A ERF/N6 342 | 349 3.71 2 3.71
1448 n¥vt (6) 0.0 00 -02 -0.2
7 87 MH & EREHE/NNG 408 375 401 1 4.08
The' 13 (6) -0.6 00 -06 -0.6
8 52 FiH K [RE /N6 DNS
774 TU14 (6) + - + - + - + -

(HEHARH) H14

(F E) S61



INEEF S5EL NI

SRk REFOHE  H56m4l Kfn HESL
REE Ton- KA Him/F 5 123 |Ief/Es
1 98 Jtm & ERE/NS O + — 1 32.87
Fon7 EE'R (5)
4 »
INEEF 6FEF N
SRk KEFEFE  67ml6 IR Y EBR
REE Ton- K& HiR/ 5 2 3 IRf/EE
1 51 b K [RE /N6 DNS
0F YA (6)
2| 100 E1& 0k ERE/NG ®) + - 1 50.68
hivan MY (6)
3 62 W A& ERF/NG x - 2 4913
7AYE Yana® (6)
4 106 /ME £ SEEING O - + 4 4221
A4 Faox (6)
5 55 B[R &K [LE/N6 O + - 3 46.33
Ying ahkd  (6)
4 =
HhZ1FEEF FENEEE
SR % RE&EFoHE  5mbbd B &
REE Ton- KA Him/ 5 2 3 IRf/EE
1 121 iR A5 EREED DNS
The YIRY (1) - A= -
2 168 &=F% Mk B 410 | 414 419 1 419
ahng e¥en (1) 24 0.1 2.4 +2.4
3 120 UK '3y 17 B RIGEE 1 DNS
Y7EN Vv 87 (1) A e b
4 =
HAZE2-3F FF FENEH
SR % R&EioHFE  5m8b B KE
REE Ton- KA Him/ 5 23 IRf/EEK
1 153 #RIS —#2 BRH2 4.23 5 423
YT hA%E (2) 0.1 -0.1 -0.1
20 173 B[R &% ERAER 2 3.05 6 3.05
YEng ahz (2) 0.9 2.1 +21
3 162 EHD = Ed3 4.71 476 472 4 476
4%h 4 (3) 02 -14 08 -1.4
4 129 UK F14 ERLEH2 5.31 538 | 5.18 3 538
YYEF YHED (D) 0.1 08 -08 +0.8
5 160 ILU& H#X Ef3 551 578 1 b5.78
YYEb 2991 (3) -0.2 08 |+ - +0.7
6 127 Ry EM ERILEF2 543 | 538 520 2 543
e Ve (2) -05 04 04 -0.5

(H\EHARH) H20

(% ®) H20

( & ) S62

(78 #) S63



HEZHBEF 1A YIR0-

SRk KEFEHE 42m23 AR BR
HEIE] - K% Pl e 1 2 3 g iz / R 8%
1 174 11 #t ERAER 2 ®) + — 1
99%T 19 (2) 34.10
2| 152 ¥AE ERF2 ®) - + 2
WYY 93 (2) 20.17
— E
WEF FEN58k
SRk REFHFK  Tmil8 bE =18
HEIE] - K% PR/ P4 1 2 3 g iz / SR 8%
1 200 iu;vré:% Elg;ll‘.%‘z X 515/ 2.04 3 5.15
n + - -1.0 0.0 -1.0
20 181 K £ t431-17Y DNS
Tht 4hY S e
3 220 EJT'? i;fgl);:‘x.ﬁ#ﬁﬁ.‘%s 476 x 5.50 2 550
3y -0.6 +— -0.6 -0.6
4 180 PR £ t431-17Y 6.24| x 6.12 1 6.24
#h IvEY 1.3+ - -1.6 +1.3
R
HEIE] - K% Pl e 1 2 3 I sz / R 8%
1 210 .j?m}? ;ﬁA i(ﬁ;?ﬁ?—ﬁﬁ%z 961 986 995 1 9.95
Y a1 2

(& BB H2 2

(HBHRT#&AT) H16
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